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O Aog A+e 29
20,0008 * 109! * 153 3,000
303 TA3 20,000 10,000 10,000
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_18_




0z N>
J2

R

D NERE
DRSO

. OO O
2d <
erEzdy

2M A MEDL

BHI(M=7 ME D)
]l

- - &EIE =
_?_A—I PPl 9‘?"(9'3:”) * }\-”—?—}\l'g * lﬂg% /QF% 0:”/\|,o|.| BDC]}’
S EFEELE]
7,4573 * 67AI2 » 2421 = 12&8 » 0.75 107,918
203 €S F&l 4,200 4,200 0
04 EA2IZRFEHI 4,200 4,200 0
O M=7A&E(3021015t)  350,000& * 12& 4,200
204 XA 30,000 44,400 A 14,400
01 g2 FH| 1,200 44,400 243,200
O & 100,000& = 123 1,200
03 SEHYR-HESHI 28,800 0 28,800
O NREEEF& 100,000 * 249! = 12& 28,800
| =&l 34,360 18,800 15,560
Jl=23tl 34,360 18,800 15,560
201 23| 33,360 16,800 16,560
01 AbR2t2lH| 13,200 12,000 1,200
O get=gH| 13,200
-JIE2 MRESS 7Y 500,000& = 12& 6,000
- 284 28 ¥ =4dHIS
600,000& * 12& 7,200
02 3234l 20,160 4,800 15,360
O 3323 ¢ MA 6,000
- HA333 S 500,000& * 12& 6,000
O A& &Hl |XI4I 14,160
- J=EDBH)| RAE=H S
300,000& = 1CH » 12& 3,600
- 28 IUssgJl RAE=
200,000& * 1CH * 12& 2,400
- XEEN SXEH RANESH
350,000& = 12& 4,200
- XAl &4 0I0IKIsHY = X2 ==Hl
330,000& * 12& 3,960
405 ItHatE S| 1,000 2,000 A 1,000
01 XL SEZFHSHI 1,000 2,000 A 1,000
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O SEXZA g2FX
20,0003 * 421 = 103 » 12& 9,600
A SXIMEI A S 19,880 25,700 25,820
HAHNE SRS 19,880 25,700 25,820
201 223 5,040 6,800 21,760
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O ALY X 2tXIE 20,0008 = 67 + 10 1,200
O 2gol & 2 HE0H 20,0008 = 1000l 2,000
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< 100,000
Al 1,729,820
22Y JlsE 1,829,820 794,280 1,035,540
= 100,000
Al 1,729,820
201 LEt=2EH| 2,520 8,520 A6,000
01 AtS 22l 2,520 8,520 6,000
O =gl 2,520
- L= YREw
7,000& = 201 x 15& » 123 2,520
202 (4dl 4,800 5,760 A 960
01 WY 4,800 5,760 A 960
O o=k 248
20,000& » 221 ~ 10 » 128 4,800

_21_




AR NERH SN NET FUSKD
Mo Lol=) SA(MST FOUSKD)
Sl LOI=XIAIL BB (B9 &)
- _ _ Muo
AR .2 HH . C(E) - HRAY - BLS o il i~ o B2
401 Al&HIL 20| 837,500 0 837,500
01 Al&H] 837,500 0 837,500
O LoA=TAIL MBS o B4
100,000,008 * 8K 800,000
O DI2=Xs2 ST (RYR)
75,000,0002! * 141 * 50/100 37,500
402 QIR 20IH 985,000 780,000 205,000
= 100,000
Al 885,000
01 QARZRE 985,000 780,000 205,000
O Lo=xAL JseY
30,000,0008 * 10H4 300,000
O =Q=TAE 22
5,000,0008 * 5004 £ 250,000
O L=XXE 2222 DA
7,000,0002 * 5744 35,000
O &9 B2 A= (FHAHH)
100,000,008 * 272 200,000
O ®A 3 Lo=T 52 A
200,000,008 * 14! 200,000
= 100,000
Al 100,000
ZOHY SXNSE(HST FUSKD) 34, 100 35,020 920
BNl =X 34,100 35,020 A920
IV EIEII- 34,100 35,020 A920
201 YBr2 ) 8,300 9,020 AT20
01 Attt 7,520 9,020 A1,500
LIRS =11 5,000
- BOHAHBEINTY DS 2VSX K
5002 * 1,0000H 500
- JHAREFAPY NG 222 KX
5002l * 1,0000H 500
- ZOHQIXISX EX TOH 800 * 5,0000H 4,000
O 2| 2,520
- BT ASEA
7,00020 * 201 % 152 * 128 2,520
02 IZ2Y| 780 0 780
O 2222 2 HAl 780
- HAZWIY AT MSE
5,002 * 133l& * 122 780
202 01t 4,800 0 4,800
01 =2Uioibl 4,800 0 4,800
O BOHI=X YRE
20,0002 * 291 * 102 * 122 4,800

_22_




g3 H=am SN ST FUEXY
B Zojel ZNEH(A2T F=H D)
ol ZoHel SEXEH (9 ®2
NI X EH . ClO (5 S AL . HA 2 Al OH HEE =2}
301 LEEAZ 21,000 21,000 0
01 AMBIEEE 263 21,000 21,000 0
O HEFOHZAH XA 1,000,000& + 1501 15,000
O sSEZMHe 28dHAFHSH K&
400,000& * 15¢@l 6,000
oy 2 BESX(ME7 F2USIL) 1,232,040 437,470 794,570
BEAMEA S 715,320 104,350 610,970
ESEHAIH 715,320 104,350 610,970
307 212t0l™ 715,320 104,350 610,970
02 QIZtAAEX 715,320 104,350 610,970
O otdFZ 2 tEAId JIsEZ K&
21,570,000& = 14 21,570
O gl XI& 26,050,000 * 33 78,150
O ZHEEOHE 0l EXZ WAL elA4d|
1,500,000& * 12! = 12& 18,000
O BE|UA 222X =%
60,000& * 8302 * 12& 597,600
Otsotd 2 B35 516,720 333,120 183,600
Ots=E2=s2el 41,720 33,120 8,600
201 LBt 3| 10,040 3,360 6,680
01 AtR22lH| 5,040 3,360 1,680
O =&l 5,040
-0ls ¥ B8] g92Fd
7,000& = 321 » 20 *123 5,040
02 =323l 5,000 0 5,000
O =322 ¥ HA 1,000
- olERS ¥9xd NEEEE
1,000,000& * 1CH 1,000
O Xt e 4,000
- OlsEs gRF& AKX
4,000,000& = 1CH 4,000
202 04 H| 7,680 5,760 1,920
01 =LHO b 7,680 5,760 1,920
O s & BEx g2FA
20,0003 * 421 » 8 » 123 7,680
401 AIEHIZ 2 10,000 20,000 A 10,000
01 Al&HI 10,000 20,000 A 10,000
O UE0ol=0lE NEES
2,000,000 * 502 10,000
405 KtatF S| 14,000 0 14,000
01 AHALESHSHI 14,000 0 14,000

_23_




A2 N2 M AST FUSID
HH: 4 Y ESXYF (=7 FUEXM)
ool OIS U 25 (el @@
_ _ PSEN=
AZ SN FHH . SHR(3) - MBAY - BES ol Ol AF o8 HluS2
O0S2s Y2FA &
14,000,000& = 1CH 14,000
=E0HE XN& 36,000 0 36,000
301 et ez 36,000 0 36,000
01 AISIEE A =0l= 36,000 0 36,000
O Z=&Jt8 X& 30,0003 = 1009t * 128 36,000
AW HEHOlA E4&EesS K& 439,000 300,000 139,000
301 et as 439,000 300,000 139,000
12 JIet24= 439,000 0 439,000
O sdEe3 A 439,000,000& = 14 439,000
MRS TAZE(M=ER FLU=STD) 68,820 84,680 A 15,860
HEEAN =4 68,820 84,680 A 15,860
HIIZXM2 ¥ 2el2dg 7,900 3,500 4,400
201 LetEEl 5,500 3,500 2,000
01 AtR2teld] 5,500 3,500 2,000
O get=&H| 2,000
- A8 ANSEEIIE EE2E MHF
100& * 10,00001 * 23] 2,000
O gx= 3,500
- SY0E HolS2 ==&l
350,000& = 1CH 102l 3,500
202 Oddl 2,400 0 2,400
01 SUHHYI 2,400 0 2,400
O A4 AgZEmEIIE8 NEHS L 2RXel
20,000& * 121 » 10& = 123 2,400
Ml SEEI NS 60,920 81,180 220,260
201 YEH2HH| 48,880 44,920 3,960
01 AtR 22/t 25,280 24,500 780
O get+=Ed| 17,000
- SAE JEARMLE EE2S WA
100& * 10,00001 * 22| 2,000
- MMy D HHERY CHHEXE HIZE
100,000 = 100K 10,000
- HE2E 2ltiE g22 MF
100& * 10,0000H * 22 2,000
- 12 ESS0/HE01)| sE8 UEX & 7Y
10,0003 * 3004 3,000
O =gl 5,880
- HA PREX
7,000& = 7¢I « 102 » 128 5,880
O gx= 2,400

_24_




SER R SA CHST FO=XD

M RS TAZE(MER FUST D)

&t FEEEA 24 (9 ®2
Al = XH ol (5 = o 1% =] OH II_-|L|;=|_I‘Z_ =}
S 'jéI&;'E'Tl(El}H)'}\‘”—'—/\l':u - HAS Ol & O] AF OH Hlws2

- MEMY D] EHED NEHS RS Zet
IglH 200,000&  1CH = 123 2,400
02 5234l 23,600 20,420 3,180
O 2322 % HA 17,600
- NESs JYRHS S
1,500,000& = 1CH 1,500
- EXHII2 /IEHe =2
300,000& = 50& 15,000
- BEFH SASMYI HRASBAH 44
Z DN 2EZ 2503 » 2004 + 128 600
- SASFHI = ZEHARAMIE EAtE
O Z RERS 2508 = 1,000 * 23l 500
O Xtz el 6,000
- A&7l 6,000,000& * 1CH 6,000
202 O4dl 5,040 5,760 AT20
01 =LHA b 5,040 5,760 ANT20
O P-LEY
20,000& * 321 « 7 « 123 5,040
206 M=l 5,000 5,000 0
01 MHZHl 5,000 5,000 0
O itz ZHES 2,500,000& * 23| 5,000
301 LEtEAZ 2,000 0 2,000
12 JIEtE 43 2,000 0 2,000
O MUDIE2ESIIZ1 ESAMEARAM MDA
2 (UEC0IXIZE) 100,0008 * 10021 * 20% 2,000
HY2HHU(MEF F2USX D) 125,587 128,977 A 3,390
ol 2| 102,235 102,235 0
ol 2| 102,235 102,235 0
101 1244l 85,435 85,435 0
01 2= 85,435 85,435 0
SN EEEPS
7,4573 * 67AI2F » 1921 » 12& * 0.75 85,435
203 HRF&Y| 4,200 4,200 0
04 ENBILSFEH| 4,200 4,200 0
O M=+ F2=X2H(30210]58t)
350,000& = 12& 4,200
204 XA H| 12,600 12,600 0
01 g ZRHA | 1,200 1,200 0
O & 100,000& = 1@l » 12& 1,200
03 EZYFHESHI 11,400 11,400 0
O o=l 50,000& * 19¢! * 12& 11,400
Jl2ZHl 23,352 26,742 A3,390

_25_




A2 N2 M NET FUSD
HH: HHRIAPH(MSEF FU=X D
&2l Jl=&Hl (9 E2
AT .2H "B OEH) - HRAY - BES ol e HlmE2
Jl2&Z | 23,352 26,742 A 3,390
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O AlEEBIsXbI 600
- AIR4A HiY 2A &Y 600,000& * 13 600
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3,000,000& = 13 3,000
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1,000,000& * 25 2,000
401 AIEHIZ 2B 20,000 0 20,000
01 Al&HI 20,000 0 20,000
O ZRLEEZUEFIANL sSEMUSEHMHE F
]l 20,000,000& * 14 20,000
S X ALS 758,948 1,011,724 N252,776
201 etIH| 1,680 1,680 0
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CMAMHIA A (St &=
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WEE AM SAXH 15,920 22,250 26,330
201 LEr2YH| 5,120 13,360 A8,240
01 AtR22t2IH] 5,120 13,360 A8,240
O 2et=2H| 1,760
- GoAlD MA 100,0008 * 8& 800
- T2H EY (2305 2 Ztet)
120,0002 * 441 % 23| 960
O 3| 3,360
- YMAHI A =Z8FA Y HGHADEZK
7,0009 * 491 » 102 * 128 3,360
202 OdH] 10,800 8,640 2,160
01 2o 10,800 8,640 2,160
O ASAMAA Al T A
20,0002 * 30! = 155| » 12& 10,800
MAA NTEHA 23,750 22,480 1,270
201 LEr2YH| 11,750 11,080 670
01 AFR22t2IH] 6,300 6,400 A 100
O 3| 6,300
- QMAA OIAXEEHES
7,0008 * 501 » 153 * 12& 6,300
02 222%H| 5,450 4,680 770
O 2222 2 AA 1,130
- NESXHA(SE) 450,000 * 14 450
- SANN BY2S(58) 130,000 = 14 130
- ANEX BEE 550,0008 * 14 550
O Xars ety 4,320
- XS X
1,5009 * 202/Ef * 122 * 12 4,320
202 OfH] 7,200 7,200 0
01 2o 7,200 7,200 0
O SAMA X B
20,0008 = 501 % 63 128 7,200
301 et A= 4,800 4,200 600
12 JIEIB A2 4,800 4,200 600
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202 O] 2,400 2,400 0
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O BHESAE gstzs =X
0,0008 * 201 * 242 2,400
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301 LEEAZ 3,000 2,000 1,000
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O BEHESAE U g HEHIEY Aotan 24
100,000 * 30 3,000
305 Hia=S 3,600 2,400 1,200
01 HHAZ2S 3,600 2,400 1,200
O SEAE 84 12,0002 = 300A 3,600
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- JI235HE 22X X
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O ANZe222Y
745720 * 67AI2tx 2001 * 122 * 0.75 89,932
203 HRFAY| 4,200 4,200 0
04 BNSYYRETY] 4,200 4,200 0
O MET SAIZZ3H3091015H)
350,009 * 122 4,200
204 =@ A 2,600 15,000 A2,400
01 HEZARLBAY] 1,200 1,200 0
O B 10,0008 * 191 * 122 1,200
03 SZYRLHSH 1,400 13,800 A2,400
O negsy| 50,0009 * 1991 * 122 11,400
|22l 30,930 29,060 1,870
2 30,930 29,060 1,870
201 Yer2 ) 30,780 28,440 2,340
01 At 30,780 28,440 2,340
CEITES =11 8,100
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A= AMA=ERE M AEF TAIASW
H: HHSIEH(MER TAIAFY)
S 2| (&9 HM
_ - AT
A= .25 - F3H .S () - MBAIY - BES 0] AFCH @}\_FO” Hns
- SMEX S HIANREE
600,000& * 12& 7,200
-EM 2 AERSEE
15,0008 = 58 x 12& 900
O iz 22,680
- CXE=82] 230,000 = 2CH = 12& 5,520
- ZetHlOl M= 8le  330,0008 * 3CH = 12&€ 11,880
- SUYOIMZelE!  110,000& = 404 = 12&€ 5,280
301 LeEt8 A3 150 300 A 150
12 JIEtE &2 150 300 A 150
O Z=2= #HEMHIAN CHst 24
5,000& * 303/ 150
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